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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2015 › Ê≈√Ú, 2016 

¸˝√√±˚˛fl¡ ¬Û±Í¬Sê˜ ( Subsidiary ) 

¬ı̨¸±˚˛Ú ( Chemistry ) 

ø¡ZÓ¬œ˚˛ ¬ÛS ( S-2, SCH-II: Chemistry-II ) 

¸˜˚̨ – øÓ¬Ú√√ ‚KI◊±¬ Û”Ì«̃ ±Ú – 100 

Time : 3 hours Full Marks : 100 

[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 

Weightage of Marks : 70% 

¬¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 

’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 
Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

  ø¬ıˆ¬±· - fl¡ 

1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 20 × 2 = 40 

 [fl¡] [’] é¬±¬ı˛ Ò±Ó≈¬&ø˘ õ∂fl‘¡øÓ¬ÀÓ¬ ˜≈Mê√ ’¬ı¶ö±˚˛ ¬Û±›˚˛± 

˚±˚˛ Ú± Œfl¡Ú ∑ Î¬±Î¬◊Ú-¤¬ı˛ ¬ÛXøÓ¬ÀÓ¬ 

Œ¸±øÎ¬˚˛±˜ Ò±Ó≈¬ øÚ©®±˙ÀÚ¬ı˛ ¬ÛXøÓ¬øÈ¬ 

’±À˘±‰¬Ú± fl¡èÚº 4 + 6 

  [’±] 
  

! 

B
2
H

6
› 

  

! 

C
2
H

6
 ≈√øÈ¬˝◊√√ ¸˜À˚±Ê√œ Œ˚Ã·º 

·Í¬ÀÚ¬ı˛ ø√fl¡ ŒÔÀfl¡ ¤À√¬ı˛ ¬Û±Ô«fl¡…&ø˘ øfl¡           

øfl¡ ∑ √̋√± ◊̋√√E±˝◊√√Î¬ fl¡˚˛ õ∂fl¡±À¬ı˛¬ı˛ √̋√̊ ˛ ∑ õ∂ÀÓ¬…fl¡ 

õ∂fl¡±À¬ı˛¬ı˛ ¸—:± › ¤fl¡øÈ¬ fl¡À¬ı˛ Î¬◊√±˝√√¬ı˛Ì ø√Úº  

     4 + 6 

 [‡] [’] ¤fl¡øÈ¬ Ò±Ó≈¬ (A) ˘‚≈¬
  

! 

HNO
3

-ŒÓ¬ ^¬ıœ ”̂¬Ó¬ ˝√√̊ ˛º 

^¬ıÌøÈ¬ ø˙‡± ¬Û¬ı˛œé¬±˚˛ ˘±˘ ¬ıÀÌ«¬ı˛ ø˙‡± Œ√̊ ˛ 

¤¬ı— Î¬◊M√√5 fl¡¬ı˛À˘ ’'±˝◊√√Î¬ (B) Œ√̊ ˛º         

(A)-Œfl¡ Ú±˝◊√√À¬∏C±ÀÊ√Ú ·…±À¸¬ı˛ ¸Àe Î¬◊M√√5 

fl¡¬ı˛À˘ (C) Î¬◊»¬Ûiß fl¡À¬ı˛ ˚± ’± «̂ø¬ıÀù≠ø¯∏Ó¬ √̋√À˚̨ 

’…±À˜±øÚ˚˛± Œ√̊ ˛º (A)-¬ı˛ ¸Àe ˝√√± ◊̋√√ÀE±ÀÊ√ÀÚ¬ı˛ 

ø¬ıøSê˚˛±˚˛ (D) Î¬◊»¬Ûiß √̋√̊ ˛º (D) Ê√À˘¬ı˛ ¸Àe 

ø¬ıøSê˚˛± fl¡À¬ı˛ ¤fl¡øÈ¬ ·…±¸ (E) ¤¬ı— Ê√À˘ 

’^±¬ı… é¬±¬ı˛fl¡œ˚˛ Œ˚Ã· (F) Î¬◊»¬Ûiß fl¡À¬ı˛º (A) 

ŒÔÀfl¡ (F) Œ˚Ã·&ø˘ ˙Ú±Mê√ fl¡èÚ ¤¬ı— 

ø¬ıøSê˚˛±&ø˘ ø˘‡≈Úº  

  [’±] fl¡Ì« ¸•Ûfl«¡ ¬ı˘ÀÓ¬ fl¡œ Œ¬ı±ÀÁ¡Ú ∑ Î¬◊√±˝√√¬ı˛Ì 

ø√Úº fl¡Ì« ¸•ÛÀfl«¡¬ı˛ fl¡±¬ı˛Ì&ø˘ ¬ı…±‡…± fl¡èÚº 

     15 + 5 
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 [·] (’) √̋√…±À˘±ÀÊ√Ú Œ˜Ã˘&ø˘Àfl¡ ˝◊√√À˘fl¡¬∏CÚ ’±¸øMê√¬ı˛ 
ÿÒ√ı«SêÀ˜ ¸±Ê√±Ú › fl¡±¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚº    

  (’±) ¢∂œ·Ú±Î«¬ ø¬ıfl¡±¬ı˛fl¡ ¬ı…¬ı˝√√±¬ı˛ fl¡À¬ı˛ ÚœÀ‰¬¬ı˛ 
Œ˚Ã·&ø˘ õ∂dÓ¬ fl¡èÚ –  

    (i) ’±˝◊√√À¸±Àõ∂±¬Û±˝◊√√̆  ’…±˘Àfl¡±˝√√̆ º 

    (ii) ’…±ø¸ÀÈ¬±Ú 

    (iii) ’…±ø¸øÈ¬fl¡ ’…±ø¸Î¬º  5 + (5 × 3 ) 

 [‚] [’] øÚ•ßø˘ø‡Ó¬ ¬Ûø¬ı˛¬ıÓ«¬Ú&ø˘ fl¡À¬ı˛ Œ√‡±Ú ¤¬ı— 
¬ı˛±¸±˚˛øÚfl¡ ø¬ıøSê˚˛±&ø˘ Î¬◊À~‡ fl¡èÚ –  

    (i) ’…±øÚø˘Ú 

! 

" ’ÀÔ±«-Ú±˝◊√√À¬∏C±’…±øÚø˘Úº 

    (ii) Œõ∂±ø¬Ûø˘Ú 

! 

" Œõ∂±¬Û±Ú-1- ’˘ º 

   (iii) Ú±˝◊√√À¬∏C±À¬ıø?Ú 

! 

" Ùv≈¬›À¬ı˛±À¬ı√√ø?Úº 

  [’±] ’¬ÛÚ˚˛Ú ø¬ıøSê˚˛±¬ı˛ √̋√Ù¬˜…±Ú øÚ˚˛˜øÈ¬ 
Î¬◊±√̋ √√¬ı˛Ì¸˝√√ ø¬ı¬ı‘Ó¬ fl¡èÚº (5 × 3) + 5 

    ø¬ıˆ¬±· - ‡ 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 12 × 3 = 36 

 [fl¡] [’] ø¸ø˘fl¡±-ŒÊ√̆ -¤¬ı˛ õ∂døÓ¬ › ¬ı…¬ı √̋√±¬ı˛ ø˘‡≈Úº  

  [’±] 
  

! 

N(CH
3
)
3

-¤¬ı˛ é¬±¬ı˛fl¡œ˚˛ Ò «̃ ’±ÀÂ√, øfl¡c 

  

! 

N(SiH
3
)
3
-¤¬ı˛ ŒÚ˝◊√√ º  ¬ı…±‡…± fl¡èÚº 

  [ ◊̋√√] 
  

! 

CCl
4

’± «̂ø¬ıÀù≠ø¯∏Ó¬ ˝√√̊ ˛ Ú± øfl¡c 
  

! 

SiCl
4

 √̋√̊ ˛º 

¬ ı…±‡…± fl¡èÚº  6 + 3 + 3 

 [‡] [’] Li, Na › K-¤¬ı˛ ¸Àe ’ø'ÀÊ√ÀÚ¬ı˛ ø¬ıøSê˚˛± 

ø˘‡≈Úº ø¬ıøSê˚˛±Ê√±Ó¬ ¬Û√±Ô«&ø˘¬ı˛ ¸Àe Ê√À˘¬ı˛ 

ø¬ıøSê˚˛± ø˘‡≈Úº 

  [’±] ·ø˘Ó 
  

! 

MgCl
2

-¤¬ı˛ Ó¬øÎ¬»̌ø¬ıÀù≠ ∏̄ÀÌ¬ı˛ ¸˜˚ ̨

NaCl › 
  

! 

CaF
2

Œ˜˙±ÀÚ± √̋√̊ ˛ Œfl¡Ú ∑ 9 +  3   

 [·] [’] ¸—¶Û˙« ¬ÛXøÓ¬ÀÓ¬ 
  

! 

H
2
SO

4
 Î¬◊»¬Û±√ÀÚ¬ı˛ 

Œˆ¬ÃÓ¬-¬ı˛±¸±˚˛øÚfl¡ ÚœøÓ¬&ø˘ ø¬ıøSê˚˛±¸˝√√ 

’±À˘±‰¬Ú± fl¡èÚº 

  [’±] Ê√̆ œ˚̨ ˜±Ò…À˜ ø¬ıøˆ¬iß õ∂fl¡±¬ı˛ ’…±ø˜ÀÚ¬ı˛ 

é¬±¬ı˛fl¡ÀQ¬ı˛ Sê˜ Î¬◊¬Û˚≈Mê√ fl¡±¬ı˛Ì¸˝√√ ’±À˘±‰¬Ú± 

fl¡èÚº 6 +  6 

 [‚] [’] ¢≠≈Àfl¡±Ê√ ¤fl¡øÈ¬ fl¡±¬ı«øÚ˘ Œ˚Ã· ¤¬ı— fl¡±¬ı«øÚ˘ 

”̃̆ fl¡øÈ¬ ¤fl¡øÈ¬ ’…±˘øÎ¬ √̋√± ◊̋√√Î¬ ”̃̆ fl¡º ˚Ô±˚Ô 

ø¬ıøSê˚˛± ¡Z±¬ı˛± ¤øÈ¬ õ∂˜±Ì fl¡èÚº  
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  [’±] Î¬◊√± √̋√¬ı˛Ì¸˝√√ ˙fl«¡¬ı˛± ¬ı˛+¬Û±ôLÀ¬ı˛¬ı˛ ¬ı˛±Ùƒ¬ ¬ÛXøÓ¬øÈ¬ 

¬ı…±‡…± fl¡èÚº 6 + 6 

 [„√√] [’] ’…±øÚø˘Ú ’ÀÔ±«, ¬Û…±¬ı˛± øÚÀ«√ø˙Ó¬ Œ˚Ã· Œ√̊  ̨

Œfl¡Ú ∑ fl¡±¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚº 

  [’±] 2-ø˜Ô±˝◊√√̆  ø¬ıÎ¬◊È¬-2-˝◊√√Ú › 2-ø˜Ô±˝◊√√̆  ø¬ıÎ¬◊È¬ -

1-˝◊√√Ú-¤¬ı˛ ˜ÀÒ… Œfl¡±ÚƒøÈ¬ Œ¬ı˙œ ¸≈ø¶öÓ¬ 

fl¡±¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚº 

  [ ◊̋√√] 
  

! 

Cr(H
2
O)

6
Br

3
 Œ˚Ã·øÈ¬¬ı˛ ¸y±¬ı… 

¸˜±¬ı˚˛¬ı&ø˘ ø˘À‡ õ∂ÀÓ¬…fl¡øÈ¬¬ı˛ IUPAC Ú±˜ 

ø˘‡≈Úº 4 + 4 + 4 

 [‰¬√√] [’] ˘‚≈ 
  

! 

H
2
SO

4
-¤¬ı˛ Î¬◊¬Ûø¶öøÓ¬ÀÓ¬ ˘…±fl¡ÀÈ¬±Ê√Àfl¡ 

’± «̂ø¬ıÀù≠ø¯∏Ó¬ fl¡¬ı˛À˘ fl¡œ ‚ÀÈ¬ ø˘‡≈Úº 

  [’±] α–D-¢≠≈Àfl¡±Ê√ ¤¬ı— β-D-¢≠≈Àfl¡±ÀÊ√¬ı˛ Œ‰¬˚˛±¬ı˛ 

’Ì≈ø¬ıÚ…±¸ ’ÇÚ fl¡èÚº Œfl¡±Úƒ ’Ì≈ø¬ıÚ…±¸øÈ¬ 

Œ¬ı˙œ ¸≈ø¶öÓ¬ › Œfl¡Ú ∑ 

  [ ◊̋√√] ’¬Ûø¬ı˛˝√√±˚« ’…±˜±˝◊√√ÀÚ± ’…±ø¸ÀÎ¬¬ı˛ ¸•ÛÀfl«¡ 
È¬œfl¡± ø˘‡≈Úº 4 + 5 + 3 

    ø¬ıˆ¬±· - · 

3º Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6  × 4 = 24 

 [fl¬] ÚœÀ‰¬¬ı˛ ø¬ıøSê˚˛±&ø˘ ¸•Û”Ì« fl¡èÚ – 

   (i)   

       

   (ii)   

   (iii)  

     6 
 [‡] [’] ˜˘ÀÈ¬±ÀÊ√¬ı˛ Î¬◊»¸ øfl¡ ∑ ˜˘ÀÈ¬±ÀÊ√¬ı˛ Ê√̆ œ˚̨ ^¬ıÀÌ 

◊̋√√à Œ˚±· fl¡¬ı˛À˘ fl¡œ ‚ÀÈ¬ ∑ 

  [’±] ¤ø¬ÛÀ˜¬ı˛±˝◊√√ÀÊ√̇ Ú fl¡±Àfl¡ ¬ıÀ˘ ∑ 3 + 3 

 [·] ¬H.V.Z. ø¬ıøSê˚˛± ¬ı…¬ı˝√√±¬ı˛ fl¡À¬ı˛ ’…±˘±øÚÚ ¸—Àù≠ ∏̄Ì 
¬ÛXøÓ¬øÈ¬ ø˘‡≈Úº        6 

 [‚] È¬œfl¡± ø˘‡≈Ú – 

  [’] Œ¬ı˛±ÀÊ√Ú˜≈̀ ¬ ø¬ıøSê˚˛± º 

  [’±] ¬˝√√…±À˘±Ù¬˜« ø¬ıøSê˚˛± º        3 + 3                
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 [„√√] [’] IUPAC  Ú±˜fl¡¬ı˛Ì fl¡èÚ – 

   (i)  
  

! 

CH
3
" CH = CH " C #  C " CH

3
 

   (ii)  

   (iii)  
  

! 

 Pt (NH
3
)
2
Br

2
 [ ] . 

  [’±] 
  

! 

XeF
4

¬-¤¬ı˛ õ∂døÓ¬ › ·Í¬Ú õ∂fl‘¡øÓ¬ ø˘‡≈Úº  

    3 + 3   

 [‰¬√√] fl¡œ ‚ÀÈ¬ ¬ı˛±¸±˚˛øÚfl¡ ¸˜œfl¡¬ı˛Ì¸˝√√ ø˘‡≈Ú º 

  [’] Î¬◊M√√5 NaOH ^¬ıÀÌ¬ı˛ ¸Àe øÊ√ÀÇ¬ı˛ ø¬ıøSê˚˛± 

‚È¬±ÀÚ± ˝√√̆   

  [’±] 
  

! 

H
3
BO

3
Œfl¡ NaOH ¸˝√√À˚±À· ŒÙ¬±È¬±ÀÚ± ˝√√̆  

  [ ◊̋√√] Î¬± ◊̋√√À¬ı±À¬ı˛ÀÚ¬ı˛ ¸±ÀÔ ’…±À˜±øÚ˚˛± ø˜ø˙À˚̨ 

180˚C ¤ Î¬◊M√√5 fl¡¬ı˛± √̋√̆  º 2 × 3  

 [Â√√√] øÚÎ¬◊øflv¡fl¡ ’…±ø¸Î¬ fl¡±Àfl¡ ¬ıÀ˘ ∑ øÚÎ¬◊øflv¡fl¡ ’…±ø¸ÀÎ¬¬ı˛ 

¸•Û”Ì« ’± «̂ø¬ıÀù≠ ∏̄ÀÌ fl¡œ fl¡œ Œ˚Ã· Î¬◊»¬Ûiß √̋√̊ ˛ ø˘‡≈Úº 6  

 [Ê√√√√] [’] ›¸±ÀÊ√±Ú ¸•ÛÀfl«¡ È¬œfl¡± ø˘‡≈Úº 

  [’±] ˙fl«¡¬ı˛±¬ı˛ ’¬Û¬ıÓ«¬Ú ( mutarotation ) ¬ı˘ÀÓ¬ 

fl¡œ Œ¬ı±ÀÁ¡Ú ∑ 4 + 2 

( English Version ) 

Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 

The figures in the margin indicate full marks. 

Group-A 

1. Answer any two questions.  20 × 2 = 40 

 A.  (a) Why are alkali metals not obtained in 

free state in the nature ? Discuss the 

extraction of sodium metal by Down's 

process.   4 + 6  

 (b) Both 
  

! 

B
2
H

6
 and 

  

! 

C
2
H

6
 are covalent 

compounds . What are their structural 

differences ? How many types of 

hydrides are there ? Give definition and 

one example for each type. 4 + 6    
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 B. (a) A metal (A) dissolves in dilute 
  

! 

HNO
3
. 

The solution gives red coloured flame in 

flame test and gives oxide (B) on 

heating. (A) on heating with nitrogen 

gas produces (C), which gives ammonia 

on hydrolysis. (A) produces (D) on 

reacting with hydrogen. (D) on reaction 

with water produces gaseous 

compound (E) and water insoluble basic 

compound (F). Identify the compounds 

(A) to (F) and write the reactions.     

  (b) What do you mean by diagonal 

relationship ? Give example. State the 

reason(s) for diagonal relationship.  

     15 + 5 

 C. (a) Arrange the halogen elements in 

ascending order of their electron affinity 

and explain with reason. 

  (b) Prepare the following compounds using 

Grignard reagent : 

   (i) Isopropyl alcohol 

   (ii) Acetone 

   (iii) Acetic acid.  5 + ( 5 × 3 ) 

 D. (a) Carry out following conversions and 

mention the chemical reactions : 

   (i) Aniline 

! 

" o-nitroaniline. 

   (ii) Propylene 

! 

" Propan-1-ol. 

   (iii) Nitrobenzene 

! 

" Fluorobenzene. 

  (b) Explain the Hofmann rule of 

elimination reaction with proper 

example. ( 5 × 3 ) + 5 

Group-B 

2. Answer any three questions. 12 × 3 = 36 

 A.  (a) Write the preparation and use of Silica 

gel. 
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   (b) '
  

! 

N(CH
3
)
3
 shows basic property, but 

  

! 

N(SiH
3
)
3
 does not show basic property. 

Explain. 

  (c) 
  

! 

CCl
4
 does not hydrolise but 

  

! 

SiCl
4
 

does. Explain. 6 + 3 + 3 

 B. (a) Write down the reactions of Li, Na and 

K with oxygen. Write the reactions of 

the products formed with water. 

  (b) Why are NaCl and 
  

! 

CaF
2
 mixed with 

  

! 

MgCl
2
 for electrolysis in its molten 

state ? 9 + 3 

 C. (a) Discuss the physico-chemical 

principles with reactions for the 

preparation of 
  

! 

H
2
SO

4
 in contact 

process. 

  (b) Explain the order of basicity of different 

types of amines in aqueous medium 

with proper reason. 6 + 6 

 D. (a) "Glucose is a carbonyl compound and 

the carbonyl group is a aldehydic 

group." Prove it with proper chemical 

reactions.  

  (b) Discuss Ruff's process for carbohydrate 

transformation with an example. 6 + 6 

 E. (a) Why does aniline give ortho, para 

oriented products ? Explain with 

reason. 

  (b) Between 2-methyl but-2-ene and            

2-methylbut-1-ene which one is more 

stable ? Explain with reason. 

  (c) Write the plausible isomers of 

  

! 

Cr(H
2
O)

6
Br

3
 and give IUPAC 

nomenclature for each isomer. 4 + 4 + 4 

 F. (a) What happens when lactose is 

hydrolysed in presence of dilute   

  

! 

H
2
SO

4
 ? 
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  (b) Draw the chair conformations of α–D-

glucose and β-D-glucose. Which one of 

the two conformations is more stable 

and why ? 

  (c) Write short notes on essential amino 

acid. 4 + 5 + 3 

Group - C 

3. Answer any four questions. 6 × 4 = 24 

 A. Complete the following reactions : 

  (i)   

       

  (ii)   

  (iii) 
   6

 

 B. (a) What is the source of maltose ? What 

happens when yeast is added to the 

aqueous solution of maltose ? 

  (b) What is meant by epimerization ? 3 + 3 

 C. Write the synthesis of Alanine using H.V.Z. 

reaction.  6 

 D. Write short notes on the following. 

  (a) Rosenmund reaction 

  (b) Haloform reaction. 3 + 3  

 E. (a) Write the IUPAC nomenclatures : 

    (i) 
  

! 

CH
3
" CH = CH " C #  C " CH

3
 

    (ii)  

    (iii) 
  

! 

 Pt (NH
3
)
2
Br

2
 [ ]  

  (b) Write the preparation and structure of 

  

! 

XeF
4

. 3 + 3  
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 F. Write with chemical reactions what happens 

when — 

  (a) Zinc is reacted with hot NaOH solution. 

  (b) 
  

! 

H
3
BO

3
 is refluxed with NaOH solution. 

  (c) Diborane is heated at 180˚C with 

ammonia. 2 × 3  

 G. What is known by nucleic acid ? Write the 

compounds obtained by complete hydrolysis 

of nucleic acid. 6    

 H. (a) Write short notes on Osazone. 

  (b) What do you mean by mutarotation of 

carbohydrate ? 4 + 2 

    


